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QUESTION 1
Which of the following statements is FALSE regarding the triggers of the Tracking Area Update (TAU) messages?

A. ATAU is sent when an active UE moves into a new TA that is not in the UE\\'s current Tracking Area Identity (TAI)
list.

B. A TAU is sent when a UE moves from the 2G/3G network back to the LTE network.

C. ATAU is sent when an idle UE moves into a new TA that is not in the UE\\'s current TAI list.
D. A TAU is required to be sent periodically.

E. A TAU is never required as long as an idle UE stays in the same TA.

Correct Answer: E

QUESTION 2

Which of the following statements are TRUE regarding the SDF templates /filters? (Choose three)

A. An SDF filter can identify an SDF flow by matching the information in the IP 5-tuple and the Layer-7 application
B. One SDF template can have only one SDF filter for each direction.

C. One dedicated bearer can have more than one SDF template and multiple SDF filters.

D. One dedicated bearer can have only one SDF template.

E. One SDF template can have multiple SDF filters for each direction,

F. One dedicated bearer can have more than one SDF template.

Correct Answer:. CEF

QUESTION 3

On Alcatel-Lucent 7750 SGW, which of the following CLI commands is used to obtain the output displayed in the
exhibit?
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Peer address : 10.10.10.5

Bouter : Base

Port : 2123 Chassis/Card : 172
Create session requests i Create session responses i B
Delete session requests : 4 Delete sesszion responses 4
Create bearer requests :a Create bearer responses : D
Delete bearer requescs e Delete bearer responses 45 3
Update bearer redqueata 2D Update bearer responses =l
Modify bearer requests : 0 Hodify bearer responses sl
Malformed packets Bx : 0 Unknown message pkts Bx 2t
Modify bearer commands .0 Modify bearer fail ind s
Delete bearer commands : 0 Delete bearer fail ind b
Miszing mand IE pkts Ex : D

Bearer resource comnands HE 1 Bearer resource fail ind ¥ B
Peer address : 10.10.10.5

Router : Base

Port t 2123 Chassis/Card i L/A
Create se3sion redqueats : 0 Create gs=3sion responses HI 1
Delete session requests - Delete session responses 0
Create bearer requests o 1 | Create hearer responses |
Delete bearer requests : 0 Delete bearer responses s
Update bearer requests 0 Update bearer responses : 0
Modify bearer requests : 0 Hodify bearer responses + D
Malformed packets Ex : B Unknown mnessage pkts Ex 2 H
Modify bearer commands 10 Modify bearer fail ind el
Delete bearer commands 8 Delete bearer fail ind +
Missing mand IE pkts Rx i i

Bearer resource commands : 0 Bearer resource fail ind : 0
Humber of peer instances : 2

A. Show mobile-gateway serving ref-point-stats s11

B. Show mobile-gateway serving ref-point-stats s5

C. Show mobile-gateway serving ref-point-stats s11 instance
D. Show mobile-gateway serving ref-point-stats s5 instance

Correct Answer: D

QUESTION 4
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Which of the following is used to carry the GTP Path Management message "Echo Request"?
A. TheGTPv1 protocol.

B. The GTPv2 protocol.

C. The TCP protocol.

D. TheGTPv1 protocol or the GTPv2 protocol.

E. None of the above answers are correct.

Correct Answer: D

QUESTION 5

Which of the following statements is FALSE regarding the EPC QoS parameters?

A. The Guaranteed Bit Rate (GBR) is the traffic rate expected to be provided by a GBR bearer.
B. The MBR is the maximum bit rate expected to be provided by a GBR bearer.

C. The PGW enforces the APN-AMBR in the DL direction.

D. The APN-AMBR limits the traffic rate on a per bearer basis.

E. The APN-AMBR in the UL direction is enforced in the UE and additionally in the PGW.

Correct Answer: D
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